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9l HASE 225 HA(2PESHE) (S &2)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
==X 2,468,687 2,191,448 277,239
= 384,419 140,117 244,302
< 99,949 55,521 44,428
Al 1,984,319 1,995,810 A11,491
I =ME B U HNASS 4egod X 2,273,635 2,091,453 182,182
= 301,624 60, 121 241,503
< 85,460 41,522 43,938
Al 1,886,551 1,989,810 A 103,259
MNASEE 225 A (gs2ESSEIA) 2,273,635 2,091,453 182,182
= 301,624 60, 121 241,503
S 85,460 41,522 43,938
Al 1,886,551 1,989,810 A 103,259
=220 YRR (A=2E2SEEFH) 1,837,643 1,959,014 A 121,371
308 MtXIEHMSOIH 1,837,643 1,959,014 A 121,371
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= 301,624 60,121 241,503
S 53,785 11,522 42,263
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OS2 S0HAMH (FIHE) 22,849,000 22,849 0 22,849
= 8,000 0 8,000
= 1,400 0 1,400
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= 82,795 79,996 2,799
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